
Quantitative	
  Reasoning	
  

1.   The	
  McLoone	
  Index	
  is	
  the	
  ratio	
  of	
  the	
  total	
  amount	
  spent	
  on	
  pupils	
  below	
  the	
  median	
  

per-­‐pupil	
  expense	
  in	
  a	
  group	
  to	
  the	
  amount	
  that	
  is	
  needed	
  to	
  raise	
  all	
  of	
  the	
  pupils	
  to	
  

the	
  median	
  expense	
  in	
  the	
  group.	
  

a.   The	
  ratio	
  divides	
  the	
  summation	
  of	
  all	
  below	
  the	
  median	
  by	
  the	
  median	
  

multiplied	
  by	
  the	
  number	
  of	
  pupils	
  below	
  the	
  median.	
  

Ex.	
  

Number	
  of	
  Employees	
   Salary	
  

2	
   1,000,000	
  

4	
   200,000	
  

6	
   100,000	
  

6	
   60,000	
  

8	
   45,000	
  

12	
   24,000	
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